Disequazioni polinomiali

Periodo 2 - UdA 8

Risolvere le seguenti disequazioni

—5x—6—1° — 325 —97°2
[1] —dg4-222 < [2] S—Ax2—Ax <0
[3] —dy—g’—4 ~ 0 [4] —3x—31° <0
— 14— —272—4x—2
—2x°—8 —10z—5z”
[5] 37_5$3+8$ =0 [6] 62733—1331j >0
—8—2a —3x3 =622
|7 “opis2 =V 8 Z15—227 =V
—4—4x —23+16x
9] 922 +3x3 <0 |10] 0712222 = U
372 —152—52%+20
1] “i— a8 =V 12] 45 Y
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SOLUZIONI

Disequazioni polinomiali

Periodo 2 - UdA 8

r< =3 —2<x<0 2<x
r < —3 —2<x<0 0<zx<l1
T < —2 —2<x<0 0<ux
r < —1 -1l <z <0

x < 0 r =2

r < —2 0<z<?2

x <0 3 < T

—2< <0 0<zx

r < —3 —1<x2<0 0<zx
—4 <z <0 2 <x <3 1<z
r <0 0<z<l l <z

r < —4 —ad<z <l 3< T



